Exercice n°4
Réduire les expressions :

a2 +5\2 -7\2 +2\2 =

b.5\5 -6\3 -8/3 +15 =

C-4[11 + 11\13 + 13\/11 =

d.3\7 -3\5 -5\7 + 75 =

e.-8\2 -2/11 +3/11 -7\2 =

Exercice n°6
Calculer les carrés :

Exercice n°5 a.(\/5) = b.(3\2) =
Calculer les produits :
a.\2x3\2= b. 217 x 547 = ¢ (-2/3) = d.(2\/11) =
. 3\5 x 4[5 = d..\2x\2 = e. (5\2) = f. (6\3) =
e. -3\2 x (-5\/5 )= f. 743 x (-2\/§ )= q (-Z\ﬁ )2 _ h. (-9\/ﬁ )2 _
g. 5\/5 x (-5 )= ho2 % A2 A2 =

Exercice n°4

Réduire les expressions :

a.3\2 +5\2 -7\2 +212 =

b.5\5 -6\3 -8\3 +15 =

c.-4\11 + 1113 + 1311 =

d.3\7 -3\5 -5\7 + 7[5 =

e. -8\/5 _ 2\/ﬁ + 3\/ﬁ _ 7\/5 — EXCI"CiCC n°6

Calculer les carrés :

Exercice n°5 a. (\/5) = b.(3\2) =

Calculer les produits : 5 -

a2 x 32 = b 2\7 x 57 = c(-22/3) = d.(2V11) =
€. 3\5 x 4[5 = d.\2x2 = e (5\2) = f. (6\3) =

€. '3\/E X ('5\/E )= f. 7\f X ('2\/§ )= g. (_2\/5 )2 — h. (_9\/ﬁ )2 —
g- 55 x (215 )= h.\2 x\2x2 =

Exercice n°4

Réduire les expressions :

a.3\2 +5\2 -7\2 +242 =

b.5\5 -63 -8\3 +1/5 =

c.-4\[11 + 1113 +13\/11 =

d.3\7 -3\5 -5\7 + 715 =

e. -8\/5 _2\/ﬁ + 3\/ﬁ = 7\/5 — Exercice n°6

Calculer les carrés :

Exercice n°5 a.(\/5) = b.(3\2) =

Calculer les produits : > >
a2 x 32 = b. 247 x 5.7 = c(-23) = d.(211) =
c. 31\5x 4[5 = d.\2x\2= e.(5\2) = f. (6\3) =
€. '3\/E X ('5\/i )= f. 7\/7 X ('2\/5 )= g. (_2\/§ )2 — h. (_9\/ﬁ )2 —
g- 5\/5 x (-5 )= h.\2 x\2 x2 =




